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No REEE AL R741 RERRELD =
HiE B KB =/ME THiE
1] — AR HHE 100 {A/mLEAT 0 0 0 0 15 1
NS TR TR TRE | TRE | rRm | o AOREER
3|ARSHLRUZDILED 0003 | me/LLLTF <0.0003 <0.0003 #DIV/0!
4 KEBRUVZDIELED 0.0005 | mg/LUAF <0.00005 <0.00005 #DIV/0!
5| LU RUZDILEY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
B3R UZEDILEY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
1EERUZDILEY 001 | mg/LLTF 0.003 0.003 0.003
8|/ fiv A LS 002 |mg/LLTF <0.005 <0.005 #DIv/0|  EEY-EERE
M ERGEEEES 004 | mg/LLLTF <0.004 <0.004 #DIV/0!
10[> 7oA RUERS TS [ 001 [me/LUTF <0.001 <0.001 #DIV/0!
| MBESRRUERBEZR | 10 [mg/LUT <005 <005 #DIV/0!
12| 79RRUVZDILEY 08 |mg/LLLTF <0.08 <0.08 #DIV/0!
BRIV RRUVZDILEY 1.0 | mg/LUUF <o0.1 <o0.1 #DIV/0!
RS 0002 |me/LLLTF <0.0002 <0.0002 #DIV/0!
15[14-SA %4> 005 |mg/LLLTF <0.005 <0.005 #DIV/0!
16 g&‘é;;fﬁgf;‘%uﬁw 004 | me/LLUT <0.001 <0.001 #DIV/0! )
17|>yn0580 002 | meg/LLTF <0.001 <0.001 #DIV/0! AR
18[7r>y00TFLY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
19[ryyOOTFLY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
20[RotEy 001 [meg/LLUTF <0.001 <0.001 #DIV/0!
21|15 R 06 |me/LLUTF ] ] ] <0.06 <0.06 #DIV/0!
22| /O OEERE 002 | meg/LLTF ] ] ] <0.002 <0.002 #DIV/0!
23|00kl L 006 | mg/LLLTF ] ] ] <0.001 <0.001 #DIV/0!
24| >HOnE R 003 | mg/LLTF ] ] ] <0.003 <0.003 #DIV/0!
25|>J0E/OOARY 01 [meg/LLUTF ] ] ] <0.001 <0.001 #DIV/0!
26| RRFE 001 | mg/LLTF ] ] ] <0.001 <0.001 #DIv/0  HERIERY
27[#8R) NO AR 01 [mg/LLUTF ] ] ] <0.001 <0.001 #DIV/0!
28|k O OEERS 003 | mg/LLTF ] ] ] <0.003 <0.003 #DIV/0!
29|JnEC/00A8Y 003 | mg/LLTF ] ] ] <0.001 <0.001 #DIV/0!
30[JoERILL 009 |mg/LLLTF ] ] ] <0.001 <0.001 #DIV/0!
31| R LFILTER 008 | mg/LLLTF ] ] ] <0.008 <0.008 #DIV/0!
R2|HEHREVZDILEY 1.0 | mg/LUUF <0.001 <0.001 #DIV/0!
B|FII=VLRUZDEEY| 02 [meg/LUT ] ] ] <001 <001 #DIV/0! —
3U[FERUZDIEEY 03 | me/LUT 0.03 ! ! 7 [ 1 | | 0.03 0.03 0.03
B|FARVZDIEEY 1.0 | mg/LUUF <0.01 <0.01 #DIV/0!
36| FRUIVLRUZDILEY 200 | mg/LLLF <o0.1 <o0.1 #DIV/0! R
ARV EDILEY 005 |mg/LLTF 0.001 0.001 0.001 5 B8
38|i&iLmr4> 200 | me/LLTF 139 139 139
39| i TR LEGEE) | 300 | me/LLLT 0 0 #DIV/0! 7S
40| AFZEY 500 | mg/LLLTF 0 0 #DIV/0!
4 |EAF4 R EEER 02 |mg/LLTF <0.02 <0.02 #DIV/0! % A
42>+ RIV 0.00001 | mg/LELT <0.000001[  <0.000001 #DIV/0! he =
43[2-MB 0.00001 [ mg/LF <0.000001[  <0.000001 #DIV/0!
44|47 FREEER] 002 |mg/LLTF <0.002 <0.002 #DIV/0! % A
457 /— )5 0.005 | mg/LUTF <0.0005 <0.0005 #DIV/0! B =
46| EHME (TOC) 3 mg/LELTF 0.4 0.4 0.4 K
47|pH{E 5.8~8.6 . 74 74 74
48|k EETRLCE EELGL BEBLL| EB4L BELL
HE R EETRLCE EELGL BEEBLL| EB4L BELL EREtEIK
50/ & 5 ELUT <05 <05 <05 <05
518 B 2 BEUT 0.3 0.3 0.3 0.3
REBIER 0.1 me/2LLE 0.44 0.4 0.4 0.4 HEDR
K R °c 195 19.5 19.5 19.5
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No REEE AL R741 RERRELD =
HiE B KB =/ME THiE
1] — AR HHE 100 {A/mLEAT 0 0 0 0 15 1
NS TR TR TRE | TRE | rRm | o AOREER
3|ARSHLRUZDILED 0003 | me/LLLTF <0.0003 <0.0003 #DIV/0!
4 KEBRUVZDIELED 0.0005 | mg/LUAF <0.00005 <0.00005 #DIV/0!
5| LU RUZDILEY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
B3R UZEDILEY 001 | mg/LLTF <0.001 <0.001 #DIV/0!
1EERUZDILEY 001 | mg/LLTF 0.003 0.003 0.003
8|/ fiv A LS 002 |mg/LLTF <0.005 <0.005 #DIv/0|  EEY-EERE
M ERGEEEES 004 | mg/LLLTF <0.004 <0.004 #DIV/0!
10[> 7oA RUERS TS [ 001 [me/LUTF <0.001 <0.001 #DIV/0!
| MBESRRUERBEZR | 10 [mg/LUT <005 <005 #DIV/0!
12| 79RRUVZDILEY 08 |mg/LLLTF <0.08 <0.08 #DIV/0!
BRIV RRUVZDILEY 1.0 | mg/LUUF <o0.1 <o0.1 #DIV/0!
14| miE bR R 0002 |me/LLLTF <0.0002 <0.0002 #DIV/0!
15[14-SA %4> 005 [meg/LLUTF <0.005 <0.005 #DIV/0!
16 g&‘é;;fﬁgf;‘%uﬁw 004 | me/LLUT <0.001 <0.001 #DIV/0! )
HIBZEEEED, 002 [meg/LLUTF <0.001 <0.001 #DIV/0! AR
18[7r>y00TFLY 001 [meg/LLUTF <0.001 <0.001 #DIV/0!
19[ryyOOTFLY 001 [meg/LLUTF <0.001 <0.001 #DIV/0!
20[RotEy 001 [meg/LLUTF <0.001 <0.001 #DIV/0!
21|15 R 06 |me/LLUTF ] ] ] <0.06 <0.06 #DIV/0!
22| /O OEERE 002 | meg/LLTF ] ] ] <0.002 <0.002 #DIV/0!
23|00kl L 006 | mg/LLLTF ] ] ] <0.001 <0.001 #DIV/0!
24| >HOnE R 003 | mg/LLTF ] ] ] <0.003 <0.003 #DIV/0!
25|>J0E/OOARY 01 [meg/LLUTF ] ] ] <0.001 <0.001 #DIV/0!
26| RRFE 001 | mg/LLTF ] ] ] <0.001 <0.001 #DIv/0  HERIERY
27[#8R) NO AR 01 [mg/LLUTF ] ] ] <0.001 <0.001 #DIV/0!
28|k O OEERS 003 | mg/LLTF ] ] ] <0.003 <0.003 #DIV/0!
29|JnEC/00A8Y 003 | mg/LLTF ] ] ] <0.001 <0.001 #DIV/0!
30[JoERILL 009 |mg/LLLTF ] ] ] <0.001 <0.001 #DIV/0!
31| R LFILTER 008 | mg/LLLTF ] ] ] <0.008 <0.008 #DIV/0!
R2|HEHREVZDILEY 1.0 | mg/LUUF <0.001 <0.001 #DIV/0!
B|FII=VLRUZDEEY| 02 [meg/LUT ] <001 <001 #DIV/0! —
3[RV EDILEY 3 |mgpp¥l <003 o {( { ] ] ] 1l 1 I [ <003 <003 <003
35 ARVEDILED 10 [ mg/LUTF ] <001 <001 #DIV/0!
36| FRUIVLRUZDILEY 200 | mg/LLLF <o0.1 <o0.1 #DIV/0! R
ARV EDILEY 005 |mg/LLTF <0.001 <0.001 <0.001 5 &
38|i&iLmr4> 200 [ me/LELTF 11.6 11.6 11.6
39| i TR LEGEE) | 300 | me/LLLT 0 0 #DIV/0! 7S
40| AFZEY 500 | mg/LLLTF 0 0 #DIV/0!
4 |EAF4 R EEER 02 |mg/LLTF <0.02 <0.02 #DIV/0! ¥ 8
42>+ RIV 0.00001 [ mg/LF <0.000001[  <0.000001 #DIV/0! he =
43[2-MB 0.00001 [ mg/LF <0.000001[  <0.000001 #DIV/0!
44|47 FREEER] 002 |mg/LLTF <0.002 <0.002 #DIV/0! ¥ 8
457 /— )5 0.005 | mg/LUTF <0.0005 <0.0005 #DIV/0! B =
46| EHME (TOC) 3 mg/LELTF 0.3 0.3 0.3 Bk
47|pH{E 5.8~8.6 . 7.3 73 73
48|k EETRLCE EELGL BEBLL| EB4L BELL
HE R EETRLCE EELGL BEEBLL| EB4L BELL EREtEIK
50/ & 5 ELUT <05 <05 <05 <05
518 B 2 EUT <o0.1 <o0.1 <o0.1 <o0.1
REBIER 0.1 mg/LELE 0.38 0.4 0.4 0.4 HEDR
Kk R °C 18.6 18.6 18.6 18.6




